M 4Eask  1114F12H THISH #i#
Py B 2 R R e L R e iff”if —T = perc:gtlle —— 117 | 107 [mmsse|mimmnn

SE T F(FEF)
1 | EDPOO5 |4 % # 12 = 1 368 0.27 0.36 0.00 [ 000 [089 [115 | 108 1.62 2.46 5 (s
2 | EDPO06 (&2 g ] »+ 24 | po s 21 | 368 5.71 10.79 6.05 | 7.37 [12.63 [13.95 | 7.94 37.18 | 70.84 B |Es
3 | EDPOO7 |4 % 4 pw 24-48 ) pF 0 368 0.00 0.00 0.00 [ 0.00 [ 0.00 | 0.00 0 0.04 0.3 B |ERn
4 | EDPOO8 |4 % . 48-72 /| p& 0 368 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 0 0.01 v |ESn
5 | EDPO09 (4 2 g« »+ T2 /| sk 0 368 0.00 0.00 0.00 [ 0.00 [ 0.00 | 0.00 0 0 0 5 [Eswe
6 |EDPO10|4&% ¢ % 0 368 0.00 0.40 0.00 | 000 059 [079 | 049 1.28 4.13 B |Esn
7 |EDPO1L (4% ¢ #2426 30 » 45 ¥ 0 0 #DIV/O! 0.00 2.59 6.4 13.14 v (s
8 |EDPO16 |4 25 - 4 5 & 66 | 368 | 17.93 22.69 17.18 | 19.02 |26.38 |[28.22 | 11.47 | 14.78 | 18.94 B |Esn
9 | EDPO17 |4 2 # i 4 g;,;,;a 5 & 9 368 2.45 1.95 013 [ 074 [ 317 [ 378 | 1.39 1.91 2.81 B s
10 | EDP022 | 5 - A& 5 4 v & 0 368 0.00 0.35 000 | 000 086 112 | 101 1.89 2.78 B |Ess
11 | EDPO23|% = & #p 4 - & 9 368 2.45 3.95 139 | 224 | 566 | 652 | 3.69 4.69 5.83 B |msn
12 | EDPO24 | % = & 5 4 & 301 | 368 | 81.79 69.08 63.00 |65.03 [73.14 |75.16 | 62.46 | 6513 | 73.03 B |msn
13 | EDPO25 | % m i & 5 4 & 58 | 368 | 15.76 25.02 19.32 | 21.22 |28.82 [30.72 | 1322 | 23.78 | 32.14 B |msn
14 | EDPO26 | % T A& 5 4 v & 0 368 0.00 1.52 000 | 045 | 259 [312 | 114 2.08 5.34 B |mEsn

ERLE(EEF)
1 [EDU00L|& # fifags ¢ i 2 tibog L b 5 75 | 153 | 49.02 57.02 47.19 [50.46 | 63.58 | 66.86 | 40.37 51 61.56 R A =TT
2 |EDU002 |4 # 7 % 42 CPR » & 0 368 0.00 0.05 000 [ 000 [023 [033 | 007 0.24 0.46 EICE A E=
3 |EDU003| &+ OHCA s * 41( (e plew 4R 0 368 0.00 0.00 8.33 1652 | 19.19 ERE A PR
4 |EDUOD4|& s « et 16 7= & 0 368 0.00 0.08 0.00 [ 000 [033 [046 | 003 0.05 0.08 IR A E=3E3 N
5 |[EDUO0S|4&# 4 24 [ PR £EED S 1 368 0.27 0.79 0.00 [ 001 [ 157 | 1.96 0.6 0.97 156 | @ R A TN
6 |EDUO0B|4& ¢ 48 | R £iE4ET & 0 368 0.00 1.23 0.00 [ 026 | 219 | 268 | 117 1.89 2.97 IR A E=3E3 N
7 |EDUOO7 (&% 4 T2 [ R EEAD T 3 368 0.82 1.50 000 | 043 | 257 [310 | 172 2.35 362 | @ iR s
8 |EDUO0B|& 7+ 24 [P £E &L ifs 0 1 0.00 32.65 0.00 | 000 [23.20 3250 | 1871 | 30.15 | 36.91 RS A EIEN
9 |EDU009 (& + 48 1 mp £ apy frnz 0 0 | #DIvVIO! | 27.87 0.00 | 0.00 [59.57 [75.42 | 1958 | 26554 | 3152 B (e
10 |[EDUOI0|& v+ 72 [ mp £ ar b 1 3 33.33 23.66 ® |000 094 [4687 |57.73 | 2007 | 25.88 | 3152 bR [Ean
11 |[EDUO12 (& 2 4 it % 2 5 4 3 0 368 0.00 0.05 0.00 [ 0.00 [ 023 | 033 0 0.01 0.01 B (s
12 [EDUOL7 & m A BE £ 25 2 3 0 368 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 0.01 0.04 iR |Ean
13 |[EDUO21 |42 & + % 2 28k 0 1 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0.08 0.09 B (s

Sy B (FAEF)
1 | ICPOOL [4czkm s @ w s i@ % 30 | 179 | 16.76 10.76 ® (369 | 605 [1547 |17.82 | 24.61 28.8 41.82 ® (mfrz [miek
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B 4ra b 1EI2HTHIS B #)#E
HiEHIERE percentile
Rl AR Er A < A | AR lrr@uu)|swTioe| B F 11H | 108 [#Emas |
P pik =4 (112 30| F20| F20] F30| 25 50 75 H| 105 iRasA &
2 | ICPO02 [4cztp % g 5 S AE R * & 113 | 179 | 63.13 46.43 ® [3506 [38.85 |54.02 |57.81 | 60.23 | 66.84 | 74.59 @ [Miri |Mizx
3 | ICPOO3 [+c3k s 5 vt vs B » 91 | 179 | 50.84 30.14 ® |19.67 [12.16 |37.12 |40.60 | 29.28 | 36.67 44.6 fird  [mn %
4 [ICPO04 |4eikops s @ w S FARM o R 3 B AR 0 30 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 1.53 2.83 [CECF S [ e
5 | ICPOO5 [4eilips s TR E/RF M AREA SR O 113 0.00 0.00 0.00 [ 0.00 | 0.00 | 0.00 [ 0.7 0.82 2.09 MmAcE |k
6 | ICPO06 |4 g % o % EAR M o i B 4 B A2 0 91 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 0.5 1.81 [CECF S [ RS
7 | ICPOOT |4eikgps % ¢l 0 30 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 0 0.09 mirE  [(m
8 | ICPO08 [+cifip % % H/H s 0 113 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 0 0.04 micd  [m
9 | ICPO09 |43k % 4 # M F 5 5 0 91 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 0.18 0.35 FicE Mz
ik F(FET)
1 | ICUOOL |4 2 5 % ik ik 179 | 248 | 72.18 51.59 42.07 | 4524 |57.93 [51.11 | 56.59 | 6554 | 80.71 MicE |k
2 | 1ICU002 |4 3k & 7 = & 4 23 17.39 17.34 ® | 000 | 566 [29.03 3487 | 1002 | 1278 | 15.43 Mici  [moex
3 [ 1CU003 |24 ] pFp £ iE se s 50 0 19 0.00 1.08 0.00 | 000 | 464 | 6.41 0 0.16 0.33 MicE: Mm%
4 [ ICU004 [48 - & & 3£ 4eslhps 500 F 0 19 0.00 0.54 0.00 [ 0.00 | 3.06 | 432 [ 016 0.4 13 ® | @ |[firz: [mrk
5 [ ICU007 [4e s op 5 & it o B w 4R 0 0 #DIV/0! 241 2.86 6.82 8.33 Mir® Mk
6 | 1ICU008 |42k % iE & F ol e 1 19 5.26 473 ® |[000 |000 |11.28 |1456 [ 1.12 2.97 4.79 [ ) mAcd  [mex
7 [ 1CU009 [+ F 5 5 T i fr p 95 19 5.00 5.10 0.00 | 2.71 | 6.03 | 6.86 4.42 5.18 8.06 ifed  |Miz sk
8 | ICUOLL [4ezh s % 5 ¢ BB H 2 & 0 179 0.00 0.00 0.00 | 0.00 [0.0000 |0.0000 0 0.14 0.49 mAcd  [mex
9 | 1CUO0L2 [ % o 4 R b BEAE 17 5 0 23 0.00 4,59 0.00 | 0.00 | 0.00 [ 0.00 | 10.35 22 27.77 Mird  [me ok
B F(FAF)
1 [ IPPOOL |3 % PeikAn b & 4 % A 0 |2436 0.00 1.55 0.00 | 0.08 | 3.03 | 3.77 0.71 1.09 1.7 HaE |F1E
2 | IPPO02 |fifsps 4 #f » seikop %t & 11 | 153 7.19 6.75 ® | 178 | 343 [10.06 |11.72 | 227 3.51 5.05 MAcE:  |B 34
3 | IPPO14 |t g & = 133 | 153 | 86.93 79.31 71.27 | 73.95 [84.66 |87.34 | 3162 | 67.69 | 80.62 B WY
4 | IPPO19 |fife- 4 ¢ A0 24 ] P 0 133 0.00 0.00 0.00 | 0.00 | 0.00 [ 000 | 1.65 4.85 16.05 B AN
5 | IPPO20 |iire & § 428 2 | o 0 0 #DIV/0! 0 8.33 10 CIREE N E
6 | IPPO23 |fifijpm < ¢ v FAPM L iR 4 BA 0 30 0.00 0.00 0.00 | 0.00 (0.00000 | 0.000 0 0.05 1.47 Wik |31
7 | IPP024 |Hipeyy 4 et BARK W LR 4 B R 0 1365 0.00 0.11 0.00 | 0.00 {0.24200 0.30700 0 0 0.48 HEE (5248
8 | IPPO25 |iipups ¢ £ jish it 4 0 68 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 0.05 0.13 Wit |2 18
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4 a8 1114125 THIS H #3:

$ i TR R R e L R e iff[Jii{f —T = perc:gtlle —— 117 | 107 [mmsse|mimmnn
IPPO29 |51 pgat % asiwdl> 1 x| 16 | 16 | 10000 | 100.00 100.00 |100.00 [100.00 |100.00 | 9822 | 99.44 | 100 was | am
B HR($E5)
L | 1PU00S [ 5 p g 8oL | 148 | 582 | 646 0.00 | 389 1021 [1178 | 608 | 743 | 9.2 i [Bad
2 [1PU00A |14 = p 7 irms 0 | 1% | oo | o7t 000 [ 000 | 196 | 255 | o071 | 126 | 222 ETETY:
3 [ 1PU0O7 [irade 30 = o+ % 1 | ms | oes | 128 000 | 000 [ 273 | 346 | 083 | 139 | 271 | ® i [Bas
4 [ 1PU00s [arnr - 5 12 | 18 | 811 | 309 | @ 000|080 [539 |654 | 255 | 356 | 451 | @ | @ |inn |sas
5 | IPUOL2 [ % § it 5 |1 | 205 | 509 066 | 210 | 789 | 933 | 174 | 215 | 248 i [Bas
6 | IPUOI8 [ 47~ % o | o | vl | 000 000 [ 000 [000 [000 | O 0 0 Be bk |iked
7 [ 1PU0L9 |21 2 = 0 0 | #ivio | 000 0.00 | 0.00 | 0.00 | 0.00 | 833 214 | 3171 T e
8 | IPU020 [2 =317 4 4 o | o | vl | 000 833 | 9167 | 9833 Fo i |thea
9 [ IPUO21 |2)#g & 15 p 28 &2 (VBAC) F 0 0 #DIV/O! 0.00 0 0.69 1.82 B2k [k E
10 [ 1PU022 [374 27 < % o | o | soivior | 000 000 | 000 [000 [ 000 | O 0o | ou AT
11 | IPU023 [37 2 2t ~ % o | o | soivior | 000 0.00 [ 000 [000 [000 | O 0 0 c o [t
12 [ PU024 [x a7~ & o | o | soivior | 000 000 [000 [000 [000 | 0 | o014 | o033 AT
13 [ IPUOZ5 [374 52 14 < p ¢ » o5 o | o | vl | 000 0.00 [ 000 [000 [000 | O 0 | 11 T
14 [ 1PU028 [ty mpx sl ¥ 5 2 & 0 |24 | o000 | 000 000 | 000 [0.0150 [00220| 005 | 007 | o1 T
15 [ IPUO30 251 it < f 4 4ep s gEcmid | 0 | a4 | 000 | 000 0.000%/0.000%[0.000%[0.000%] 007 | 01 | 016 T
16 | IPUO40 [irips < #eis 48 @ p 7= 5 0 | 68 | oo | 000 000 | 000 [000 | 000| O 0 | oos T
17 [ PUOAL |5 =217 4 & 0o | o | »ovior | 000 000 [ 000 | 000 | 000| 833 | 1987 | 27.34 o tomd
18 [ IPUO43 [ ‘b TEELs 0 2436 | o000 | 000 000 [ 000 [000 [000 | O 0 0 PGt (B
19 | IPUOAS [f sy i « § %8 4 5 o |2436 | o000 | 000 000 [ 000 [000 | goo| O | 001 | o003 YT
IPUO4S (i rieth B b B 4% 458 3 % o |9 | oo | 000 000 | 000 | 000 | oo | O o | oos T
PU0AT |iirags R 5 4 % 0 2436 | oo0 | 000 000 [ 000 [000 | 00| 001 | 002 | 009 T e
PU04S | rip * R BLE F 0 | 153 | oo | 000 000 [000 [000 | 000| O | 387 | 143 i, B
P4 R E )
OPS008 [ 4+ 506 |14959 | 398 | 487 449 | 466 | 534 | 551 | 187 | 272 | 468 Wik |riE
P55 B (R )
OPPOOL |1 s < it b & 153 |14959 | 102 | 120 094 | 108 | 137 | 146 | 083 | 114 | 153 BE |BEm
Tt T
OPU00S [ 35 it 8 4 5 4 5 0 |12957| 0000 | 0.0009 000 | 000 {0000 [0000 | 002 | 003 | 005 s |z
OPUOOS |1 7 i A M2 4 5 2 & 0 [12957| o000 | 0002 0.00 | 000 [0.008 [0010 | o0 0 0 s |ma
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M 4Eask  1114F12H THISH #i#
R B e e R R R iff”if —T = percsegtlle —— 117 | 107 [mmsse|mimmnn
e i (R )
1 |RCUO0O1 [RCWs . % 4p B 9 1 [1202 | o083 1.00 0.00 [ 000 [026 [035 | 025 0.59 0.82 PR B ES
2 |RCUOO3|RCW Y % i F % #n M A 2 % & 0 | 332 0.00 0.11 0.00 | 0.00 [ 029 |[038 | 151 3.45 3.83 BEF (2w
3 |RCUOO7|RCW2E3- 4 4 3 M # 0 40 0.00 0.00 0.00 [ 0.00 [ 0.00 | 0.00 0 0 0 REF |2pn
4 | RCUOLL |RCW/E 7 Bk & {7 5 0 40 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 5.79 11.35 wEd |2pe
5 |RCUOL2|RCWR 7 b3 # % 0 1202 | 0.00 0.00 0.00 | 0.00 | 000 [ 000 | 001 0.03 0.08 wEdm |1pn
6 | RCUOL5|RCW s 4 » v B A g & 5 0 4 0.00 0.30 0.00 | 0.00 [ 000 [000 | 025 1.42 9.46 BEWE |1pn
FRE M (FEF)
1 [MGP0OL |, it 5 2436 | 4898 | 49.73 48.00 44.99 |45.63 | 48.18 |48.82 | 53.57 577 | 68.23 TRA (32w
2 |MGP002| & 5 f iF & 5 148 128 115.63 120.00 93.54 1101.81 [134.89 [143.16 | 136.43 184.65 | 261.22 TRA |3
FRLEF(EY SLF)
1 |MGUO0A| % F f 15 2 B ¢ # 3 1 3 1.00 ® |0.00%]0.00%|0.62%|0.85%| 0.25 0.75 1.91 FRA |mpe
2 |MGUOO05| > ik 4 F 0 1 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 0.13 0.33 FTRA |mpE
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